
Solutions to Problem �.

a. Pr{Y� > �� �Y� = ��} = Pr{Y� − Y� > �� �Y� = ��}= Pr{Y� − Y� > ��}= Pr{Y� > ��}= � − Pr{Y� ≤ ��}
= � − ���

j=�
e−�(�)(�(�)) j

j!
≈ �.����

b. Pr{T�� ≤ �} = FT��(�) (T�� is Erlang distributed with n = �� phases and parameter λ = �)
= � − ���

j=�
e−�(�)(�(�)) j

j!
≈ �.���

Note. You should get the same answer if you computed Pr{Y� ≥ ��} instead.
c. Pr{T��� ≤ �� �Y� = ��} = Pr{Y�� ≥ ��� �Y� = ��}= Pr{Y�� − Y� ≥ �� �Y� = ��}= Pr{Y�� − Y� ≥ ��}= Pr{Y� ≥ ��}

= � − ���
j=�

e−�(�)(�(�)) j
j!

≈ �.����

d. E[T�] = �
�
= �
�

�


	What is a stochastic process?
	The Case of the Reckless Beehunter
	Arrival counting processes
	The Poisson arrival process
	Properties of the Poisson process
	When is the Poisson process a good model?
	Why does the memoryless property hold?
	Exercises

